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1. Introduction
In the previous RAN4 meetings, there were discussions regarding specification of measurement GAP for Dual Connectivity. In the last meeting, the following WF regarding the measurement GAP configurations was agreed [1]. 
· Measurement Gap for synchronized DC 

· Existing measurement Gap configuration can be reused, i.e. common measurement gap and 6 ms MGL on both MCG and SCG      

· Measurement Gap for unsynchronized DC

· For MCG: To reuse the legacy Measurement GAP configuration.

· For SCG: Measurement gap length on SCG is [7]ms. Time from starting tuning to end of retuning is up to 6ms for measurement gap, which is aligned between MCG and SCG

In this contribution, we discuss the details of measurement GAP configuration for unsynchronized DC.
2. Discussion
Although Time from starting tuning to end of retuning is aligned between MCG and SCG in unsynchronized DC case, MGL of SCG can be up to 7ms, which is not specified in the current TS 36.133. According to the RAN2 agreement described in Annex A [2], since eNB configures a single measurement GAP to UE in the case of DC, there are two potential ways to configure the measurement GAP.
· Option 1: 
· To introduce a new measurement GAP configuration, which indicates that MGL of MCG is 6ms and MGL of SCG is 7ms in TS 36.133. eNB explicitly configures the length of MGL for SCG.
· This new configuration is used in unsynchronized DC case.

· Option 2

· To utilize the legacy measurement GAP configuration which indicates MGL is 6ms even if unsynchronized DC case. eNB does not explicitly configures the MGL for SCG.
· UE considers 7 ms MGL for SCG when received subframe boundary difference between PCell and PSCell at the UE is more than 33 us.
Both option 1 and 2 enable UE to configure 7ms MGL of SCG. Since the additional specification is not needed in option 2, our preference is Option 2.

Observation 1: Existing measurement GAP configurations can be reused in both synchronized and unsynchronized DC

Proposal 1: GAP configured UE configures 7ms MGL for SCG when received subframe boundary timing difference between PCell and PSCell at the UE is more than 33 us.

3. Conclusion

In this contribution, we discussed a detail of measurement GAP configuration for unsynchronized DC. Our proposals and observations are summarized as below.
Observation 1: Existing measurement GAP configurations can be reused in both synchronized and unsynchronized DC

Proposal 1: GAP configured UE configures 7ms MGL for SCG when received subframe boundary timing difference between PCell and PSCell at the UE is more than 33 us.
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Annex A

RAN2 agreements regarding the GAP
RAN2 agreements informed by an LS [2] are as below.
· Regarding measurement gap for DC, RAN2 agreed that:

· Choose common gap for the MeNB and the SeNB as gap mechanism for DC, i.e.;

· There is only a single measurement gap configuration for the UE in RRC which is controlled by the MeNB;

· Timing of the gap (SFN and subframe boundary) refers to the timing of MeNB, i.e. UE uses PCell’s SFN and subframe number to determine the first subframe of the measurement gap

· UE determines the starting point of the measurement gap based on the subframe boundaries of the MCG serving cells;

· Regarding UE measurement gap capability, stick to current CA mechanism, the UE reports measurement gap capability per band/bandcombination;

· MeNB informs SeNB of the UE’s measurement gap configuration;

· RAN2 assumes that an extension of the measurement gap for the SeNB is needed (at least for the asynchronous case);

· RAN2 assumes network based determination of the timing offset between MeNB and SeNB as indicated by RAN3.
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